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aqut go7 7T & | 3 F7-77 § FT 27 97 & | F97-97 qier @vel g
fayifsa & 1

GUS 37 § Y97 G&IT 1 -5 TF Y% J97 U 37 F1 & | Y% J97 F I
20 vsg] @ 371 757 &7 05T |

GU8 § H Y97 &I 6 - 10 7% Iod% 97 g 3HH #71 & | Icdh J97 & I
40 752 G 37feres 787 &1 =IeT |

GUE T § J97 &7 11 - 16 T JI% I3 AR 3HH &1 & | Id% 97 &7 I
100 3551 @ 37ferw 787 g1 =15 |

GUE 7 § I3 G&IT 17 - 21 T I §97 Gidl 37h] &7 & | Icdeh 97 & T
150 7531 @ 3718 757 1 T30 |

G 7 § ¥o7 gEgr 21 HARE W OEGIRT 94 & | $E9F IR I
FT-GiEdT 4 1e7iEe |

GUS T § Jo7 &7 22 — 27 T I9%F ¥ D: bl FT & | I9F I3 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qs A
SECTION A

‘T e T 379 T hifST | 1
Jrerat

‘TS AT o GEF Ig¥T hl TS HIT | 1
Explain the term ‘Hegemony’.

OR
Explain the main objective of the ‘Marshall Plan’.

frafafaa ® & oH-81 Haa TTe-fue age & ged ¥ @ 787 7 ? 1

(i) 39 3MQeH 4 79 TIad ¢ ol T2 ¥ STEL T§ 1 aLhl G |

(i)  9Ra ! Te-fderar <1 Hfifd 7 a1 Terrcas off 3K T & g |

(iii) WA 1 Te-fue fifa 7 vra = f&di =1 @red § w6 |

(iv) ®ifodd 99 o @19 &= 9fY 0 e ek e-ug STIeieH i Heled
I % ToIw s st e S |

Which one of the following statements is ‘not correct’ about the
‘Non-aligned Movement’ ?

1) It suggested to the newly independent countries ways to stay out of
alliances.

(i1)  India’s policy of non-alignment was neither negative nor passive.
(iii) The non-aligned posture of India served its interests.
(iv) India was praised for signing the treaty of friendship with USSR to

strengthen NAM.
TR <hl T&TT o ToTU SRR = aTefl fohell Ueh STauisd™ d&em &1 M
fafey | 1
JAat
TS Qe ST o A9 Tadd ¥ o T Wel fohEl Ush gram i K i
ISR 1T | 1

Name any one international organisation that campaigns for the

protection of human rights.
OR

Highlight any one security challenge faced by the newly independent
countries of Asia and Africa.
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ot famadt i 9Ra ¥9 6 AW % fIT SER qdd i e S e
HINT | 1

Evaluate the role played by Sardar Patel towards the integration of the
Princely States with India.

“Toifaer Tl 9 Tadd ATCIAH! . shl STTLROT bl T T | 1

Explain the concept of “Non-Party Movements”.

Qs d
SECTION B

HifeRrd 9 X TYh TsT AR 6l Toemamsti i th-ush faRivar &1 eoi@

T | 1+1=2
AT

fvger AR JoIel! § gER @M % fow siehere (YA LA TELL) g TEarfaa

foregl qf guri =1 Ieorg I | 1x2=2

Mention one characteristic each of the ideologies of the USSR and the
USA.

OR

Mention any two reforms of the global trading system proposed by
UNCTAD.

Ife e Te-ferar i AHifa w1 Wer 7 dar, @ foava worifa @ = afeq
§3T BIell 2 2
arera

qRA 4 1968 1 THTY] ATAR Al (TH. .. ) T gEAer i § Fi $hR fha1 2 2

What would have happened to the world politics if India had not
propagated the policy of non-alignment ?

OR

Why did India refuse to sign the Nuclear Non-Proliferation Treaty (NPT)
of 1968 ?

“ardtfeelt e o Afge ST A AT @ 1V sH ke Sk g H o
Tqeh ST | I1x2=2

“Anti-arrack movement is also considered as a women’s movement”.
Support the statement with two arguments.
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10.

$I3 & BRI IR KT 2 319 1969 H gT HUH ardl & faurem & fag
Ioer AHG B I1x2=2

HAAAT

1975 H &N T AT § WA <kl SHdT g0 9Rd T ki3 2 918 IR
i | 1x2=2

Highlight any two reasons that you think are responsible for the split in
the Congress Party in 1969.

OR

Highlight any two lessons learnt by the people of India from the
Emergency imposed in 1975.

Y A’ TAT TqW ‘B’ H Tu T 9 1 s1eiyul freH Shifse é><4=
T A’ &y ‘B’
(a) Toue! STEIeH (i) A1 T ATUHRR
(b) efaa dod (i) Y YW
(0 dE-frieh snigem (i) ~ SfrTd Sewa % faeg we
(d) wo FhEM TRk §13A AQIeH (iv)  UThldeh HETE 9T €A
THEET 1 HTTHR

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful manner.

Column ‘A’ Column ‘B’
(a)  Chipko Movement (i)  Right to Information
(b)  Dalit Panthers (i1)) Andhra Pradesh
(c) Anti-Arrack Movement (iii) Fight against discrimination on

the basis of caste

(d) Movement of Mazdoor (iv) Right of Local Communities on
Kisan Shakti Sangathan natural resources
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SECTION C

11. T 99 H Th THEME S T §9 aTelt $8ehl fhegl = et
et IS | 1x4=4
YT
1971 § STATey <hl TIddT o foiy Iaeerlt gitifeufaat i samean $ifsu | 4

Explain any four strengths of the European Union that make it an

influential regional organisation.

OR

Explain the circumstances responsible for the liberation of Bangladesh in

1971.

12. T Al Hequl STaUs T < €9 H G Usg i fHehT S 3Tehai
IS | 4
Assess the role of the United Nations as the most important international
organisation.

13. dfvass UoHifd &1 ge7 s arefl wafae graedt fohedl = feaneti st s
I | 1x4=4
Explain any four environmental concerns that have become issues of
Global Politics.

14. 1959 # Toifud “w@ax el i fommam f fhedl am fomiwarstt w1 ol
T | Ixd=4

AT
1920 € TRt 1952 H §T YRA & YW 3T A6 doh HEYE U1l 3% 3feaT I
oy # o1 gfEdHl 1 aviF i | 4
Describe any four features of the ideology of “Swatantra Party” founded
in 1959.

OR

Describe the changes that took place in the ideology of the Communist
Party of India from 1920 to the first general elections in India in 1952.

591211 6




16.

17.

3 uitfeafaat =1 favaww hifvie g 3 1975 9 =<Nfva g & fou
IRl g4 @ | 4

Analyse the circumstances that you think were responsible for the
declaration of Emergency in 1975.

R ! fager fifd 99M @ a1 § 9RA & U J9H W, SO 15E

&1 yftrpt w1 FuiH HIT | 4
AT

TAAAT o UYETq WG hi faesr Hifa =1 guifad o aret fohedl IR el 1 JuH

Eﬁliﬁlq | Ix4=4

Describe the role of the first Prime Minister of India, Jawaharlal Nehru,
in formulating and implementing the foreign policy of India.

OR

Describe any four factors that influenced the foreign policy of India after
independence.

Que g
SECTION D

f= fou U sradr w1 eEYEe TerEH hive o frefdfed Tl % W
fefeu
TS ool hl G SEET Bl HA T foRm T | T

Tt & @red 9 stfeerat o T T Ug U | e o, ES o g
T 3T TA.... | 39 AT, Moo 3 3 3rfyes fowmareti i S+
feam |

() R e g = At R 2

(i) GehHl Tl i gaiftq 3 @ T h 3N hH geha faan 2

(ii) @ 319 frsitentor <kt arfefes Aifd o1 gmea a8 a1 iy 2 s9a
IR o 98 H g Gl Y doh [IRaU | 14242=5

AT
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f= fou MU Steaw w1 eyHgds T Hife ot ffafad ywl % 3w
farfew
Te-fue oo s g & S TR HEIRET A dT Q¥ W A
9 | ey srcer U wfter siitreRiy w1 ‘Steq faenfid 2w W
Tt et o | 39 2E % wmy g g i w9 & @R saer fashm
T qAT A FaT Bl TS T IR Y ot | gL 20 I AT
% foTeret @ oft onfeles o wewqul o | /iR fehrss forE & 15 o
G2l gl H 3THTE 981 1§ ekl |

(i) 3 Jg 1A o GH Te-FUE e (NAM) % Tohegl g T€Amaeh @il
% - fofEy |

(i)  3Teq forshfird 2@l % Ml <l T & IAH % Qg 31 alish gy |
(Gii) ‘feoprs faemm® Y Sraumon =l Toee VY | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

The old system of social welfare was systematically
destroyed. The withdrawal of government subsidies pushed
large sections of the people into poverty. The middle classes
were pushed to the periphery of society..... Besides,

privatization led to more disparities.
) What is meant by government subsidy ?

(ii) How did the withdrawal of government subsidy lead the

people into poverty ?

(iii)) Do you support or oppose the policy of privatisation ? Support

your answer with any two suitable arguments.

OR
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Read the passage given below carefully and answer the following

questions :

(1)

(i1)

(iii)

The non-aligned countries were more than merely
mediators during the Cold War. The challenge for most of the
non-aligned countries — a majority of them were categorised as
the Least Developed Countries (LDCs) — was to be more
developed economically and to lift their people out of poverty.
Economic development was also vital for the independence of
the new countries. Without sustained development, a country

could not be truly free.

Name any two founder countries of Non-Aligned Movement
(NAM) during the Cold War period.

Suggest any two methods to lift the people of the Least

Developed Countries out of poverty.

Explain the concept of ‘sustained development’.

18. R fu U Sraaor w1 eyHyds steE Hifse ot ffafad gl % @
fefia -

@)
(ii)

(iii)

597211

RIS & g9 L& & a1 H Ugd A1 GAd § dl AW
AT AT Sl URuRE Hulq U geEm i uRom § B R,
Rroeht dag G gmfRal % @Al ¥ & | FL&T I 39 JhR o Wl hl
GId I3 GEU o BIAT &, S 8= BHA sl gHehl Goht HUAT, Tl
3R &Rl T@SAT o hrgd Hodl o 7T @Al U1 il & |

TSI TR & R AN 8 2
&1 ! TREITeh GROT Shi STEAT hITTT |
fopelt gER W ¥ gg % WA B I I 3G HIE g A AT |

HAAT

9
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f= fou U st w1 eayde TerEd e e freffed wEl % S
faf -

(1)
(ii)

(iii)

I i T o foar gean ufeg f G oA 7 |

e aiwg 1 9o e fOR Wl 7 SEfh 9gw Usg 99 hl W
YT H AeEl sl T@I GF ¢ 8 | URd I HEAT & Toh 399 gad
ftwg % whifificayees afa & &1 g8 2 | wRa 1 ds 7 T dfg
F1 fIEar w1 W 98 sorer faffegers grft ofk 38 fava-fowett o
SaTeT HeH e |

eI 9fteg 1 TEET i TR’ =1 hat T 2

e aftyg <l feer 5T | 39 fdffcayere A i d g1

TS © ?

e uitwg # fosprasfiar gun <l gfiehr & 9R § 9Ra & gfseeni

I TS T |

1+2+2=5

Read the passage given below carefully and answer the following

questions :

(i)
(i1)

(iii)

Most of the time, when we read and hear about
security we are talking about traditional, national security
conceptions of security related to dangers from military threats.
The source of this type of danger to security is another country
which, by threatening military action endangers the core values

of sovereignty, independence and territorial integrity.
What is meant by national security ?
Explain the traditional notion of security.

Suggest any two methods to respond to the threat of war

from another country.

OR

10



Read the passage given below carefully and answer the following
questions :

(1)
(ii)
(iii)

One of India’s major concerns has been the composition
of the Security Council, which has remained largely static while
the UN General Assembly membership has expanded
considerably. India considers that this has harmed the
representative character of the Security Council. It also argues
that an expanded Council, with more representation, will enjoy
greater support in the world community.

Why has the composition of the Security Council been said to

have remained ‘static’ ?

How has the static composition of the Security Council

harmed its representative character ?

Explain India’s view about the role of the developing countries

in the Security Council.

19. = fu Tu Ao #1 eHgEe steE Hifse iR fr=fiiRed sl 6 IW
feftau .

(1)
(ii)
(iii)

39 YehR SgEId ITHA YOSl <1 T (& §3AT ... | AN HEQ

T gHe g T gelt o gfaffa ) | weg 1989 % a1g feRet

ff T 1 2014 T, A 91 H T FgAT I 781 g7l | 38 g
¥ TEYH WEHRI I T IE FIAT |

2014 % Ak THT TG § fohE TSHITTH S ol T ST TTed 3T 2

3TYeh foam # TTSaed THRT <l g T&F T HiH-Hl § ?
WRA 1 SEGeNd ST o feheal &l oIl o1 foetyor i |

1+2+2=5

Read the passage given below carefully and answer the following
questions :

()
(if)
(i)

597211

Thus began an era of multi-party system ... .Our

Parliament always had representatives from several political

parties. But after 1989, no single party secured a clear majority

of seats in Lok Sabha till 2014. This development initiated an
era of coalition governments at the Centre.

Which political party won a clear majority in the Lok Sabha

elections in 2014 ?

In your opinion, what are the two main problems of coalition

governments ?
Analyse any two merits of the multi-party system in India.

11
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20. = fou MU HET H AEyEEs e Hifvw qun Fafafad s % S®
%’F@Q:

() 39 g H g T A (IFR) T8 " 1 uidHe w8,
IR qU AW fofaw |

(i) ST Ty 1 EEE e S it § et % Aqca & e I
et gfaen i e HifT |

(Gii) ST T99 hl 39 e 4 e & oA fawE il hE gwifad

fomam 2 1+2+2=5
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Study the cartoon given below carefully and answer the following

questions :

1) Write the full name of the organisation represented by the tiger in
this cartoon.

(ii))  Explain the dilemma of Sri Lankan leadership in trying to resolve
this ethnic conflict.

(iii) How did this ethnic problem affect the economic growth of
Sri Lanka ?
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FlEl
2
g :  HrkiRad geT deacr gieataa qigndar & o/, 97 G847 20 F T W8

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)  #ficieRT o Q AT TYEI o AW fAfEu |

(20.2)  ficehT o ST TN I T HINT |

(20.3) ST Hod hT 36 FHE | e o i fowE @t hE ywifad
fepar 2 1+42+2=5

(20.1) Name the two ethnic groups of Sri Lanka.

(20.2) Explain the ethnic conflict of Sri Lanka.

(20.3)  How did this ethnic problem affect the economic growth of Sri
Lanka.

21. WRa % fgu T ToHifos W@rAnRE (798 16 W), § 9 TSI
@, ®, ©, D qa ® g <o T R | Y @ R TEEE F YR W
TSIl &l UgeH HINT 3 ot Sgfeae § s wdl AW, T TR
SRR <l A TEAT AT Ara-ed 31e, e &t T8 drforest o &9 § fIfEu :

TN <l TS AR
1 -G

@)
(ii)
(iii)
(iv)
)

Gra(-ed AT | TSI hl 911

() 98 Tsd e v g9 8 oo 1 fotig foman |

(i) 98 U9 S8 1972 T 3199 ¥ ¢ L S1™1 T |

(iii) 9% TST STal IR HRYEE el 3 1957 § A9 TR o |

(iv) 1966 T ST 71 ST |

(v) 9% USH S TE AW % A SA FERR G H JST A ] | Ix6=5
- 59/2/1 14




In the given political outline map of India (on page 16), five States have
been marked as @), ®B), ©), © and (E). Identify them on the basis of the
information given below and write their correct names in your
answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no. of the Concerned | Name of the
information used Alphabet State

6)

(i1)

(iii)

(iv)

v)

1) The State that resisted its merger with the Union of India.
(i1))  The State which was carved out of Assam in 1972.

(iii) The State where the Communist Party of India formed its
Government in 1957.

(iv)  The State formed in 1966.

(v)  The State related to Dairy Cooperative Movement under the name

‘Amul’.
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34 4.

21 % foTw

For question no. 21

TR T {@-UHe (T aeR)
Outline Map of India (Political)
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Note :

22,

FETfeTRad 57 @acl gieamfaa ghemeal & fog, 397 ey 21 & T T/
ihe following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) TrE TSA H ‘S A % HATd SH FER HAGIeH TE §I A1 ?

(21.2) 1966 H ST 7T foRelt U TsT 1 AW fARaT |

(21.3)  BRA If=d & foh 1 TSAT 1 HTTorR <ATH 53T 2

(21.4) 38 TSY %1 9W faRaw S&f 1957 § WRA™ wEgRe 9el 4 Tt

HTHR ST |
(21.5)  ESCAAT o HHI WA H fohad ¢t a8 o 2 1x5=5

(21.1) In which State was the Dairy Cooperative Movement under the
name ‘Amul’ started ?

(21.2) Name any one State which was created in 1966.

(21.3)  Which two States were benefitted the most by the Green
Revolution ?

(21.4) Name the State where the Communist Party of India formed its
government in 1957.

(21.5)  How many Princely States were there in India at the time of
Independence ?

Qus g
SECTION E
it Rt % el aR afoTHT 1 v AT | 1§><4=6
HAYAT
a6t Te-Fuean 6t fifa K foodl @ fommarett 1 aviw Hifse | g8 HAifa 3
fopE TR 31T Tod Eed o fofu wRa <Y ggran i 2 4+2=6

Describe any four consequences of Shock Therapy.

OR

Describe any two features of India’s policy of non-alignment. How did this
policy help India to serve its own interests ?

597211 17 P.T.0.



23. O Wt % ®Y § SmOh auea 6 Fral =wr fsivaret w1 wse Hifvw | Iéx4=6

YT
9T | Alehd shl TATYAT shl UfshaT shl AT shifvT | 6

Explain any four features of the U.S. hegemony as hard power.

OR

Explain the process of establishing democracy in Nepal.

24, wFTeRwr i 1@ & forw usAl f arsht Wy srer-stem fedy i gwren

fergeror iR | 6
e

IRA T oRelleRl o USHITGeh, 3T A1 HIERfdh YHET 1 IThaH

I | 2x3=6

Analyse the concept of ‘Common but differentiated responsibilities’ of
States towards the protection of environment.
OR

Assess the political, economic and cultural effects of globalisation on
India.

25. THAAAT TEY % SR, HIUH U Hl Tk WIS 3R RaRIcHs TeeyT
ST WeH drett, $8eh! fohral 9 faRiyarsti =1 v hifse | 2x3=6
AAAT

BT hifd & hIs & HehIUcHeh 3T &l ThIcHeh THUTTAT T 9ud shifly | 3+3=6

Describe any three features of the Congress Party that kept it as a social

and ideological coalition during the freedom struggle.
OR

Describe any two positive and two negative consequences of the Green
Revolution.

591211 18



26. 1971 % TGl H HUF UE Dl AR Sd G et fohegi IR SRl I

g Hifsre | Zéx4=6

HAAT

25 S[d, 1975 1 T I T T aTel T ATATAhIA ! ~ATIETA 38U
o v wwr g feu U sifacw ot foweiwr ifse | o 3w Sfifeey @ et
T TEHA & ? 4+2=6

Analyse any four factors that led the Congress Party to a spectacular win
in 1971 elections.

OR
Analyse the justification given by the Government of India for declaring

National Emergency on the night of 25 June, 1975. How far do you
agree with this justification ?

27. AT THEAST TR A I IITR LA o UH DIg dH dileh ST & AN

% ¢feh Sfted § hig W A 7 | 2x3=6
Jrorat

T STRIETIST o THIER q7 TSI 3FGSdl i ST T@H o his diF i

gATsT | 2x3=6

Suggest any three methods of agitation, to highlight your problems and
demands, which do not disturb the routine life of the people.

OR

Suggest any three methods to accomodate the regional aspirations and
maintain national integration.

597211 ?



